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M = {1, 2} , Σ, {Ui} , Y, {Fi (u1, u2, y)}i=1,2

〉
, (1)

Σ: ẋ (t) = f
(
u1 (t) , u2 (t) , y, x (t) , t

)
, x (t0) = x0, t ∈ [t0, ϑ] . (2)
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F1(u1, u2, y)=Φ1

(
x(ϑ)

)
+

ϑ∫
t0

g1

(
u1(t) , u2(t) , y, x(t) , t

)
dt, F2(u1, u2, y)=

ϑ∫
t0

g2

(
u1(t) , u2(t) , y, t

)
dt.
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R (u1) =
{

u0
2 ∈ D2|min

y∈Y
J2

(
u1, u

0
2, y

)
= max

z2∈D2

min
y∈Y

J2 (u1, z2, y)
}

�= ∅ ∀u1 ∈ D1,
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�
���� u0
2(u1)=arg min

u2∈R(u1)
min
y∈Y

J1(u1, u2, y).
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u0
1 ∈ Arg max

u1∈D1

min
y∈Y

J1

(
u1, u

0
2 (u1) , y

)
. (3)
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�� min
y∈Y

J1 (u1, u2, y) �� �����$�
���� D1 × D2 ,2-�
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Ṽ (λ, μ, v, γ, η) = max
u1∈D1,x,ω,ω1,ω2

V (u1, x, ω, ω1, ω2, λ, μ, v, γ, η) ,

V (u1, x, ω1, ω2, ω, λ, μ, η, v, γ) = ω − γ

∫
D2

⎛⎝min

⎡⎣0, ω1−ν

∫
Y

(
min [0, J1 (u1, u2, y)−ω1]

)2
σ (dy)−
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−μλ
(∫

Y

(
min [0, J2 (u1, u2, y) − ω2]

)2
σ (dy) − min

u2∈D2

∫
Y

(
min [0, J2 (u1, u2, y) − ω2]

)2
σ (dy)

)
−

−η

∫
Y

ϑ∫
t0

‖ẋ (t) − f (u1 (t) , u2 (t) , y, x (t) , t)‖2 dt σ (dy) − ω

⎤⎦⎞⎠2

σ (du2) ,

��� (γ, ν, μ, λ, η) > 0 � ����	
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 g1, g2, Φ1 ���
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 ����������� ��� ����� γ, ν, μ, λ, η > 0 
���� ����� ��
����
�

lim
λ, μ, v, γ, η → ∞

v
(λμ)2

→ ∞

Ṽ (λ, μ, v, γ, η) = max
u1∈D1

min
u2∈R(u1)

min
y∈Y

J1(u1, u2, y) = w0.
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χ1(u2) , χ2(u2, y) , χ3(u2, y) ���
� $��∫
D2

χ1(u2)σ(du2)=1,

∫
D2

∫
Y

χ1(u2) χ2(u2, y) σ(dy) σ(du2)=1,

∫
D2

∫
Y

χ1(u2) χ3(u2, y) σ(dy) σ(du2)=
∫
D2

∫
Y

χ1(u2) χ3(u2, y) σ(dy) σ(du2),

� ���&� �� ��
��� ����
������� ���� $
��� θ � 0 
 
����������	
� �"���
$����' 
��
�

�	

 ψ (u2, y, ·) ���
� $��

�� 
����������	
� ψ (u2, y, ·) �� [t0, ϑ] ��
 ����� �
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�

ψ̇ (u2, y, t) = −ψT (u2, y, t)
∂

∂x
f
(
u0

1, u2, y, x0, t
) − θχ2 (u2, y)

∂

∂x
g1

(
u0

1, u2, y, x0, t
)

� ����

�� �����
����������


ψ (u2, y, ϑ) = θχ2 (u2, y)
∂

∂x
Φ1

(
x0 (ϑ)

)
;

�� ��� ����� u1 ∈ U1 ��
 ��$�
 
��� t ∈ [t0, ϑ] 
���������� ����
����
�〈 ∫
D2

χ1 (u2)
∫
Y

(
θχ2 (u2, y)

∂

∂u1
J1

(
u0

1, u2, y
)−

−θ

(
χ3(u2, y)

∂

∂u1
J2

(
u0

1, u2, y
) − χ3(u2, y)

∂

∂u1
J2

(
u0

1, u2, y
))

+

+

ϑ∫
t0

∂

∂u1

(
f
(
u0

1 (t) , u2 (t) , y, x0 (t) , t
))T

ψ (u2, y, t) dt

)
σ (dy) σ (du2) , u1 (t) − u0

1 (t)

〉
� 0,

��� u2 ∈ Arg min
u2∈D2

∫
Y

(
min

[
0, J2

(
u0

1, u2, y
) − ω0

2

] )2
σ (dy), ω0

2 = max
z2∈D2

min
y∈Y

J2

(
u0

1, z2, y
)
.
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�� δ(k)(x) ���� ���������  ���#!������ � ��������� ������������ $� ��%����

�!��� !�������� ��� � ��� �����& ��%���� ���� �����
 ������

����T Vn, n ∈ N = {0, 1, 2, . . .}, U ������	C��
� >C���?��C�
 C	
 ����> R �����C�

� n. V�� �	<>��C���T �	
C	 n + 1. =
�
�> 
 Vn ��	���C�� ����<
�
�C�� �< L2(−1, 1) 9

(f, g) =
∫ 1

−1
f(x) g(x) dx.

����T k ∈ N. F	��>����> 
 Vn ��C�BCDB H�C����C	� δ(k) W k E� ����<
�
C	� 
��T�	E

H�C����� �����
���?�CC�B 
 C���X9

δ(k)(f) = (−1)k dkf

dxk

∣∣∣
x=0

. (1)
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